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KEY FOR CLASS :  1

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

01 The words are : (i) Barrel [R], (ii) Squirrel [S], (iii) Quarrel [R], (iv) Sparrow [P]. So, option (D) is the
correct answer.

02 The words are : (i) Train [S], (ii) Peacock [Q], (iii) Penguin [R], (iv) Flower [P]. So, option (C) is the
correct answer.

09 Option (A) is the correct answer. ‘Sheep’ is the same spelling for singular and plural of that word.
12 Option (C) is the correct answer. That is what describes action in that sentence. The words ‘burnt’ and

‘buttered’ are adjectives for ‘toast’.
23 Option (A) is the correct answer. That is the only game that is played indoors and is played only by

two players. All others need more players.
26 Option (D) is the correct answer. It was only the hare that was caught, but released, so ‘got ucky’. The

deer had made efforts for ‘running away’ to avoid being eaten by the lion, which cannot be called
as being ‘lucky’.

27 Option (B) is the correct answer. To make its plural, the spelling of ‘deer’ does not need to be changed.
28 Option (D) is the correct answer. That’s the moral of that story.
32 Option (C) is the correct answer. ‘I’ is a noun/pronoun for the first person singular in the nominative case,

i.e. when it is the ‘subject’ in a sentence; whereas ‘me’ is a pronoun for the first person singular in the
accusative case, i.e. when it is the ‘object’ in a sentence. Here, it is the ‘subject’, and hence ‘I’.
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